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While the overall number of marks is 110, the student's final grade will be out of 100.
Example: if a student scores 75 on the exam, the mark will be 75 and if (s)he scores 107, it will be reported as 100 (maximum possible grade).
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Questions might appear in a different order in the actual exam, and bonus questions will be clearly marked on the system (or on the exam paper in the case of G3 and G4).
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As it appears in the textbook, LMS, and scheme of work (SoW).
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The 2 bonus questions will target LOs from the SoW. These LOs can be within the ones used for the main questions or any other ones listed in the SoW.
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